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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

= 1- That shy ......... young man had turned into a confident adult.
1) expressive 2) shameless 3) reserved 4) self-assured
W 2- Students in colleges ......... a wide age range and exhibit very varying academic abilities and
communication skills.
1) encompass 2) obtain 3) insert 4) distinguish
R\ 3- Wanting to make a good impression, he found himselfin a ......... about the right color suit to wear to
the business meeting.
1) repute 2) quandary 3) priority 4) deficiency
2 4- Ted fell asleep during the movie because it had a very ......... plot.
1) controversial 2) monotonous 3) impure 4) invalid
¥\ 5- After running an early 5K race, Simone ......... devoured hearty breakfast.
1) generously 2) beneficially 3) voraciously 4) dramatically
X 6- Heavy rains in March ......... the drought conditions.
1) alleviated 2) revealed 3) accelerated 4) envisioned
W 7- He argued that he was not ......... because there was other work available within the terms of his
contract of employment.
1) clumsy 2) sluggish 3) diligent 4) redundant
X 8- The ......... of the monument took five years to complete.
1) enforcement 2) restoration 3) invasion 4) improvisation
R 9- He was found guilty and ......... to life imprisonment.
1) accused 2) convicted 3) compelled 4) imposed
2 10- The entire east wing of the building was ......... in the fire.
1) renovated 2) aggravated 3) demolished 4) prohibited

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3) or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Cinematographers remain virtually unknown outside motion — picture industry ...(11)... their contribution
sometimes matches that of the director ...(12)... . Although the director has ultimate control over the visual image,
the cinematographer actually records that image on film, ...(13)... the director’s ideas and creating the atmosphere
and the look of the film. The association between the cinematographers and the processing laboratory is also
highest importance because the cinematographer often spends hours ...(14)... after shooting, checking the
negative. On most feature films a camera team, ...(15)... of a director of photography, cameraman, shares the
responsibilities.
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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

X_1-If you are convicted of hit-and-run driving, your driving privilege will be ......... .
1) interceded 2) revoked 3) manipulated 4) violated
T 2- Surfing the Internet can ........... you with information: That's why a web browser comes in handy.
1) pursue 2) elude 3) accost 4) inundate
T2 3- The owner was S0 ........... he refused to purchase new curtains when the old ones fell off the window.
1) parsimonious 2) compensatory 3) emphatic 4) discretionary
A 4- In times of severe .......... , companies are often forced to make massive job cuts in order to survive.
1) integrity 2) stability 3) recession 4) diversification
R\ 5- Singh told reporters that he had not seen such human suffering in any previous natural ......... .
1) habitat 2) recourse 3) perfidy 4) calamity
W 6- Like many members of the animal kingdom, people will readily lend a hand to immediate family and
relatives. But humans alone extend .......... beyond Kin, frequently helping perfect strangers for no obvious
personal gain.
1) patriotism 2) altruism 3) heroism 4) protectionism
R 7- Repairs would .......... the closure of the bridge for six months.
1) exert 2) endure 3) entail 4) extrapolate
2 8- Dental caries, the culprit behind the creation of cavities, is the most .......... infectious disease in
humans, affecting 97 percent of people at some point in their lifetime.
1) prevalent 2) haphazard 3) coincident 4) unanimous
& 9- The exact mechanism by which exercise ......... strength remains unclear, but its basic principles are
understood.
1) penetrates 2) augments 3) propagates 4) inserts
2 10- I guarantee that you will both have ......... opportunity to express your opinions during the debate.
1) ample 2) equivocal 3) equable 4) ambivalent

Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3) or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Dark circles and bags under the eye occur for several reasons: the skin ...(11)... much thinner than it is elsewhere
on the body and becomes looser as we age. This very thin skin also sits on top of underlying purple muscle and
blood vessels and therefore ...(12)... darker. In addition, some people have hereditary pigmentation in this area. As
we age, fat comes out of the space enclosed by the eye socket, ...(13)... the orbit, and forms a puffy area under the
eye. This fatty tissue can fill with water, making ...(14)... . The condition becomes even more noticeable when
...(15)..., which can occur for a variety of reasons, including eating too much salt, lying flat in bed, not getting
enough sleep, allergies and monthly hormonal changes.




@ oy Wl by iy iyl ol yhe 1PRY ol 5t (il )5 (590 3T aolizewly

TAVRY i i g5 (905 dolichanly

e 9 0908 U )

s amlys bl Les Sl shiel wysd aisls Joee 5 48 ) psSioms Lads 51 € aiy 3520

00,5 LA - 50,5 el (F O & e - yals sl (¥ o0, bl (Y 0o celad o 0,8 eblug (
LR R -
Dy dolg> wws ;008 g aS el Judo play plass Cledbl 5,8 1) Lo Wlgs co i il )s goias «Fy 4y 3F Y
O S 0,0k ok (Y 00,5 Jlos - oy aslsl (A
0055 G = o 2l - o 2l (F 085 4lge - (b Soop (S (F
S O OO
5,5 gliel aga slod s yau 5 5l o 0aiS o,z Sl sesad laes By g e L Sl ] €« 4l F Y
Ba>Mo 4 dis - gLzl (F sible - Jaen (¥ Sl ye 4y anly - (il (Y JeBu - e (0
LR R -
sl ansls Jline 15 (6t o ool jshite 4 Wigd oo yame clél S 15 gy (5ol adlys 45 €F» a5 —F
Silwggine (F 6oluS g5, (Y Al - ol (Y Comoled - (S LSS ()
LI R
Sgrodd 3 ol s e o ) Slidl Conan iz a5 caS LS e 4 € <P 4u 350
MW— e conn (F S len - Sl (Y Colo> - S5 (Y pe - oS (A
L R

) g £9 b olusl aid Lol .acmay Jgl cawo plgdl g oolgils a4y g, s a5 wilosle] layludl o)y gils s (slael 51 (g lous Jio «V» &y 35 -8

QS oo Lo plad a4y SoS o & 4y paded Candie (o o)l J 1000 oo dxwgl ligliy g o

@Sl (F Gl (¥ g0 e9 (V ko B - Fgd e ()
S O OO

Py dwlyS ole O Sue 4y D Ay piline (Dl pass P aiy TV

0355 Jod - 1 S (Y oo Jlesl - 28,5, 4 ()

OOl I8 e m (53,5 (g S e (F SRS (g 53 = 392 s (T
S O O o

250 ot L pee 3l alo e 5 3 1) a0 do,0 AY S el sl Jo ke 6 ke o pls ( Sa slmlode s colais Saswg < auiE—A

T BUC
Jsill 3o (5T, oo (F O = lojen (¥ obai - st (¥ gl-zl 0
L R
sl oad s o sadsl Jsol Lol adly oo i3l w5 o 558 Gl crge (3559 0T Gasb 51 &5 (hedo 050l € aiy 3524
oo b (F OO Ehg = 0355 3485 ()
GBS g Y Y - 55,8 0 (F 005 S5 - ilyen (¥
L N i o4

AuS Glooyblie (Db ol baslie U cuils wunles 315 Cus )b Lol (590 2 4 005 o (o (po €1 4y 38 Ve
o g s (F 15750 — S eiSs - Jase (Y K5 - gl o (Y ol o B35 ()



@ vy Wl by iy iyl ol yhe 1PRY oyt i )15 (990 3T S¥ Mg

TANRY iyl i 418 (39037 YV

e g 0908 U )

Part A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
the correct choice on your answer sheet.

T 1- Walters could face ......... for his role in the robbery.
1) prohibition 2) prosecution 3) collaboration 4) violation
TR 2- The officer's historical role as a street cleaner occasionally required a measure of......... and
imagination.
1) embezzlement 2) submission 3) masterpiece 4) dexterity
& 3- The daughter had all the brains and did all the accounts - the son was just the ......... boss of the
business.
1) nominal 2) tenable 3) unpretentious 4) decent
TR 4- After the tennis match the boys ......... the sandwiches in seconds.
1) devoured 2) engraved 3) affronted 4) hallowed
TR 5- Over the centuries, these animals have become ......... to living in a dry environment.
1) inhibited 2) conducive 3) habituated 4) offensive
& 6- The results provide the most ......... and conclusive evidence to date of some enduring inequities in

participation in such facilities.
1) ambivalent 2) authoritative 3) inflexible 4) excessive

W 7- Language acquisition is one of the central topics in cognitive science. Every theory of cognition has

tried to explain it; probably no other topic has ......... such controversy.
1) assented to 2) appreciated 3) speculated 4) aroused

R 8- As supporter of the value of free trade, Bennett was often called upon to give speeches around the

world extolling the ......... of unencumbered commerce.
1) demerits 2) ambiguities 3) virtues 4) euphemisms

W& 9- ... those who challenge your thesis is more insulting than attacking them outright.
1) Veritying 2) Amusing 3) Ignoring 4) Seeking

TR 10- The student's purpose is specific and well defined, yet his method could be described as ......... .
1) wholehearted 2) haphazard 3) autonomous 4) credible

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Since World War II, direct observation of marine organisms in their natural habitats has been made possible by
underwater cameras, television, (11)......... , and submersible craft, or submarines, that can descend to great depths.
Underwater television provides the observer with a continuous picture of events (12)......... within the field of the
submerged camera. The development of self-contained diving equipment made it possible (13)......... marine
organisms in their natural habitat.
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Part A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
your answer sheet.

A 1- All this rumor going around the new manager is baseless and I .......... it all categorically.
1) conceal 2) annoy 3) refute 4) replace

™ 2- A number of notable scholars and writers appeared by 788 and by the last decade of the eighth
century, a cultural revival was in full ......

1) commitment 2) indication 3) expertise 4) bloom
. 3- To those captivated by the spell of the free market, nothing seems good or normal that does not .......
with its requirements.

1) emerge 2) accord 3) endow 4) symbolize
¥\ 4- In my opinion, ancient artifacts are part of our global cultural .......... , which should be available for
all to appreciate.

1) curiosity 2) encounter 3) mythology 4) heritage
™ 5- To make the business world a fair one, the government is doing whatever it takes to ......... the
development of the minority business sector.

1) accelerate 2) exhibit 3) reconcile 4) uncover
B 6- One of the main points at ......... is that the whole international community wants a peace agreement
to be signed as quickly as possible.

1) issue 2) dawn 3) front 4) summit
™ 7- As Mary's academic record was ........ , the prestigious university refused to grant admission to her.

1) imitative 2) complex 3) mediocre 4) thorough
X 8-One........... of the new pesticide is that it decreases plant fecundity.

1) debate 2) challenge 3) drawback 4) objection
W 9- He said that developed countries had a responsibility to ...... global economic growth to help new
democracies.

1) intend 2) foster 3) determine 4) compare

2 10- The hypothesis had to be backed up by empirical evidence in order to be considered ..... .
1) deliberate 2) formidable 3) sketchy 4) credible

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark your answer sheet.

We are so surrounded by gadgetry that it is sometimes hard to tell where devices end and people begin. From
computers and scanners to multifarious mobile devices, (11)....... spend much of their conscious lives interacting
with the world through electronics, the only barrier between brain and machine (12)....... the senses — sight, sound
and touch — through (13)....... humans and devices interface. But remove those senses from the equation,
(14)....... electronic devices can become our eyes and ears and even our arms and legs, taking in the world around
us and (15)....... with it through man-made software and hardware.
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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

R\ 1- In spite of the considerable effort .......... , many questions still remain unanswered, thus justifying continuous
research in this field of inquiry.
1) taken 2) wasted 3) invested 4) intended
2 2- The fact that "innovation" is frequently alluded to not only .......... the importance of the topic but also
generates much confusion, because its meaning depends strongly on the context in which it is used.
1) highlights 2) circumvents 3) alleges 4) cites
TR 3- He was stopped by the police for transgressing the law; he had actually been driving faster than the
speed .......... .
1) calculation 2) permit 3) monitoring 4) limit
2 4- I thought he was really hurt and became worried but later I realized that he was just .......... it.
1) emerging 2) faking 3) revealing 4) deserving
R, 5- Irene's arguments in favor of his client's innocence were so .......... that no jury member could resist them.
1) colloquial 2) enthusiastic 3) cogent 4) competitive
A 6- Believe it or not, laughing is considered to be one of the easiest .......... exercises that can cure many diseases.
1) transparent 2) benevolent 3) provocative 4) therapeutic
W 7- While Alex is very spendthrift and spends money recklessly, his brother Stew is quite .......... and
spends only when it is necessary.
1) thrifty 2) assiduous 3) gregarious 4) grumpy
X 8- Chronic illness can .......... people in hospital. But what if they could access all the care they needed at
home in virtual wards?
1) suffer 2) necessitate 3) trap 4) involve
R 9- The underlying message of the film is that love can transcend all ........... .
1) impacts 2) barriers 3) analogies 4) interjections

R 10- It is no use arguing over such a trifling matter; instead we should discuss the matters of importance

and .......... .
1) pragmatism 2) facility 3) priority 4) jeopardy

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Genetically modified superhumans. Babies born with made-to-order characteristics. The idea has been explored in
everything from academic journals .....(11)..... movies. CRISPR technology could make it .....(12)..... .

The ability to alter human genes in a way that can be passed onto offspring, .....(13)..... germline engineering, has
long been possible. But .....(14)..... genetically modify animals were so inefficient and crude .....(15)..... no sane
biologist would dream of using them on humans. Tinkering with the genes inside people has been limited to gene
therapy, where the changes don’t get passed to the next generation.
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

A 1- Lawyers for both parties will convene this morning to see if a ................ can be reached before
the matter reaches the court.
1) transparency 2) realism 3) settlement 4) discipline
T 2- Later he.....cuuue.... her daughter for having talked to her teacher impolitely.
1) prevented 2) scolded 3) restricted 4) neglected
T 3- The volcano had remained .............. for over a hundred years, and most people thought it
would never burst again.
1) dormant 2) drastic 3) severe 4) incidental
A 4- You will certainly ...........eee. your sprained ankle if you attempt to play basketball today.
1) coerce 2) avoid 3) discomfit 4) exacerbate
R s- My medical condition is ................ and cannot be altered even with medication.
1) immutable 2) exhaustible 3) durable 4) demanding
T 6- The comedian hoped his jokes would ............ a great deal of laughter from the audience.
1) pursue 2) explode 3) necessitate 4) elicit
X 7- Because Kelly’s parents were not affectionate, she grew up suffering from a/an ................ of
love and affection.
1) isolation 2) malfunction 3) violation 4) deprivation
8- Although we may never completely ......cccceeeees every disease on earth, it's heartening to see the
progress medicine has made on so many fronts.
1) overlook 2) eradicate 3) suspend 4) forecast
R 9- As people mature, their................ skills become more developed, so they are capable of solving
more complex problems.
1) collective 2) sufficient 3) cognitive 4) hypothetical
X 10- I wonder why Cathy spends so much time telling me .............. facts that have nothing to do with me.
1) curious 2) identical 3) irrelevant 4) unequivocal

PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

The job of theoretical physicists is twofold: first, to explain what our experimental colleagues have discovered;

and second, (11)................ phenomena that have not yet (12)................ . The history of scientific discovery
shows that progress is achieved using (13)................ .
Quantum theory, for example, was largely driven by empirical results, (14).............. Einstein's general theory of

relativity was (15).............. speculation and thought experiments, as well as advanced mathematics.
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

™ 1- Fierce winds and deadly waves were only one ......... many explorers like Christopher Columbus
confronted when sailing to unknown lands.
1) suspension 2) obstacle 3) shortage 4) variation

?R.2- In urban desert areas potable water supplies are stressed by increasing demands that leave water

managers ......... to find new supplies.

1) discouraging 2) refusing 3) invading 4) struggling
2 3- The sense of smell diminishes with advancing age - much more so than the sensitivity to
taste. This ......... may result from an accumulated loss of sensory cells in the nose.

1) decrease 2) merit 3) ambiguity 4) defense
™. 4- True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the ......... effects on the environment as much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary
W 5- Like most successful politicians, she is pertinacious and single-minded in the ......... of her
goals.

1) pursuit 2) discipline 3) permanence 4) involvement
. 6- Knowing that everyone would ......... after graduation, she was worried that she would not see her
friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge
. 7- Certain mental functions slow down with age, but the brain ......... in ways that can keep seniors just
as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes
W 8- It is argued by some that hypnosis is an effective intervention for ......... pain from cancer
and other chronic conditions.

1) displacing 2) alleviating 3) exploring 4) hiding
W9- Children who get ......... atmosphere at home for studies perform better than students
who are brought up under tense and indifferent family atmosphere.

1) favorable 2) valid 3) obedient 4) traditional
2.10- The post office has promised to resume first class mail ......... to the area on Friday.

1) attention 2) progress 3) expression 4) delivery

PART B: Cloze Passage:
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space.
Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. ...(11)... 1970, she completed her first performance with
Hommage a Delacroix, ...(12)... was the beginning of an artistic career ...(13)... to the oneness of art and life.
...(14)..., actions and performances on streets and public squares, followed by her "living environments" and the
"windows", ...(15)... in a selected pose with an elaborate arrangement of fabrics and lace.
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

2 1- I would like to compliment Jaden for the course of action he recommended because I think it will

.............. our problem once and for all.
1) signify 2) settle 3) sequence 4) speculate
& 2- AD e is often expressed as a simile, as in "The football game was like a battle between
gladiators."
1) analogy 2) arena 3) endeavor 4) invasion
2 3- Do you know of an alternate route we could take to ............. having to drive through the city?
1) partake of 2) suggest 3) circumvent 4) delight in
R 4- My political science professor presents her lectures in a relaxed manner using ...........c....... rather than
elaborate language.
1) literary 2) inflated 3) loquacious 4) colloquial
X 5- My uncle, a farmer, is an ............. pessimist when he discusses the weather. For example, if the sun
is shining, he's sure a drought is beginning; if it’s raining, he's sure his crops will be washed away.
1) immutable 2) interactive 3) initial 4) instant
R 6- The pharmaceutical company had to ........... its advertising claim regarding the healing power of its
new arthritis medicine because research studies clearly indicate the medicine isn't effective.
1) distribute 2) replicate 3) repudiate 4) enhance
W 7-It's an .............. to their friends as to why the couple broke up because they seem perfect for each
other.
1) alteration 2) enigma 3) interference 4) inference
A 8- Mr. Baker has decided to move to a big city because of a ............. of employment opportunities in

his small hometown.
1) trace 2) dearth 3) demonstration 4) foundation

TR 9- There are many good reasons for not smoking, but those having to do with health are the most

1) paradoxical 2) accidental 3) passionate 4) cogent
R 10- ... therapy is a psychological approach designed to help individuals change harmful thought

patterns to more constructive ones.
1) Cognitive 2) Epidemiological 3) Inherent 4) Thoughtful

PART B: Cloze Test:
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic purpose ...(11)... the subject of
some debate. It is clear that such workmanship existed some 40.000 years ago in the Upper Paleolithic era,
....(12)... it is quite possible that it began earlier. In September 2018, scientists ...(13)... the discovery of ...(14)...
by Homo sapiens, which is estimated to be 73,000 years old, much earlier than the 43.000-year-old artifacts
...(15)... to be the earliest known modern human drawings found previously.
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PART A: Vocabulary:
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
the correct choice on your answer sheet.

R 1- I omitted all the extraneous details while explaining the ........... of the matter to him.
1) breach 2) distinction 3) qualm 4) gist
T2 2- While his brother writes in an unclear and clumsy way, Sam himself is known for his ............. style of writing.
1) lucid 2) verbose 3) dull 4) feasible
™ 3- Poultry farms place the eggs into incubators to ............. the growth of the embryo into chicken.
1) conquer 2) hasten 3) outline 4) elude
R\ 4- With as many as three witnesses giving evidence against her, the .............. of her claim that she was
innocent was in serious doubt.
1) demonstration 2) paradigm 3) veracity 4) empiricism
W 5- I did not like her way of teaching because her lecture had too many digressions; she kept on
wandering to various subjects, most of them not ................ to the central idea of her topic.
1) vulnerable 2) peripheral 3) pertinent 4) loyal
R 6- With the advent of electric bulbs and emergency lights, the use of gas lamps became ............... .
1) imprecise 2) repetitive 3) idealistic 4) obsolete
™ 7- The employee did not believe the implausible story that Janet ............ to justify her absence from work.
1) concocted 2) scrutinized 3) manipulated 4) reassured
& 8- The doctor has advised him to ............. adhere to the prescribed regimen; otherwise, there is a
danger of relapse of the illness.
1) sequentially 2) strictly 3) ineptly 4) selectively
™ 9- The ..cuuneeeee.e. in her speech can put off almost anyone; she urgently needs to tone down the harsh
words she uses.
1) explicitness 2) enigma 3) shortsightedness 4) acerbity
R 10- He is so wasteful; he has ................ all the money that he had borrowed from me, and is now back
again asking for more.
1) allocated 2) neglected 3) depleted 4) accumulated

PART B: Cloze Passage:
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Good learners work hard. A few things may come easily to learners, but most knowledge requires effort ...(11)...
to put in the time. They talk with others, read more, study more and carry around when they don’t understand,
...(12)... about it before they go to sleep, at the gym, on the bus. Good learners are persistent. When they fail, they
carry on, ...(13)... that they will figure it out eventually. ...(14).... they learn from their mistakes. Good learners
recognize ...(15)... always fun. But that does not change how much they love it.

= 11- 1) which is good learners willing 2) and good learners are willing

3) that good learners willing are 4) willing are good learners
™ 12- 1) thinking 2) to think 3) they think 4) by thinking
= 13- 1) are confident 2) who are confident 3) they are confident 4) confident
™ 14- 1) Although 2) In the meantime 3) A case in point 4) Whereas

2 15- 1) learning not be 2) that learning is not 3) to learn not to be 4) learning it is not
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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
the correct choice on your answer sheet.

W™D 1-1.......... the argument because I didn't know enough about the subject.

1) depicted 2) confronted 3) dropped 4) broached
R 2- Because my husband is a .......... supporter of the high school football team, he donates money to
their organization every year.

1) zealous 2) anomalous 3) receptive 4) successive
R 3- Since the journey is .......... , be sure to bring a first-aid kit.

1) courageous 2) cautious 3) enormous 4) perilous
TR 4- The writer’s stories appeal to a wide range of people—young and old, .......... and poor, literary and
nonliterary.

1) economical 2) financial 3) affluent 4) elite
W 5- His nostalgic .......... of growing up in a small city are comical, though they are perhaps embellished
for comic effect.

1) impacts 2) accounts 3) entertainments 4) bibliographies
2 6- On a chilly night, you might like to curl up by the fireside and .......... a cup of hot chocolate while
reading one of Thurber’s books.

1) imbibe 2) amalgamate 3) relieve 4) fascinate
. 7- Although Mr. Jackson was .......... , he attempted to be jovial so that his colleagues at the meeting
wouldn't think there was a problem.

1) unpretentious 2) painstaking 3) apprehensive 4) attentive
2 8- Obviously the network is overreacting and engaging in .......... when they say “55 million people are
in danger!” for normal thunderstorms.

1) distinction 2) exaggeration

3) expectation 4) justification
TR 9- My high school biology teacher loved to .......... from science into personal anecdotes about his college
adventures.

1) evolved 2) converted 3) reversed 4) digressed
R 10- Landing a plane on an aircraft carrier requires a great deal of .......... , as you can crash if you miss
the landing zone by even a little bit.

1) precision 2) innovation 3) superiority 4) variability

PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

For some time now, medical scientists have noted an alarming increase in diseases of the heart and circulation
among people who smoke cigarettes. ...(11)... in the bloodstream causes blood vessels to contract, thus ...(12)...
circulation, which eventually leads to hardening of the arteries. ...(13)... the arteries stiffen, less blood reaches the
brain, and the end result of this slowdown is a cerebral hemorrhage, commonly ...(14)... to as a "stroke". In
addition, ...(15)... reduces the ability of the hemoglobin to release oxygen, resulting in shortness of breath.




1Fee ol )l (il 5 990 3T aoliruly Wl il )5 iy i g ol yre YYs @

‘f“ M}‘ @ﬂu)ls Q,O}T “Wb’t

S g o908 b))
NLSURA I
S5 S il (59 1y ool CLtl 4 35 g 9w lod Gl ados 12 (0805 JolS (g1 15 (F) L (V) «(Y) () O le b aodS oy it : Jond] jgimd

(0,5 ) 03,5 Jg ) Com pidlad gg050 ] 51 SBI clis a5 Ll 51« 4y 35 )

oo gk (F ool bl oS Jy (¥ O a2lge (0D g g, (F OGRS gl ar ol 258 ()
IR

5 e Jlo S Ll el 4 Jlo o el ans e JLisd o5 (2 Bl sk 5l e ymeds a5 Ll I € aiy 35 Y

ol e v sf g e (¥ Lt 2 Bbgp (lad,k) ()

e (oo (F oS Jgud oy (¥
oo o0

Lok s ol pen 1) adgl SlacSeS A Lt cesl S 539 9 0l 0 pble yiws ol a5 LT 51 «Fr asy 35 Y

Sy 2 s o boles (F ol sl cciSan (S (Y Llise ¢ Loz (Y s gl ()
RIS

eadliad g ool uBs g Wi gy (e g ol oo (B9 (6 L slapsl Gl 4 esiang o] slaglisls «Fr a5 F

395 (63 el s (F i, ddye o SSlgs (V S e Jlo (¥ 9248 o o goladl ()
RIS

@ ol 50,5 A8 b sl ol il diz o ol Jlooais SogS ah SO0 Gad Sy egas 40 gl (oliwg) 1wl bl huog «F» 4y 3¥ b
b eols Jlg s oy

S O OO
cailesn 1y 3 GlolS 51 (G g dusligia £l OIS luid S caiany o U1 LS 0sS wgd ol Sos 00 paw cls SO 50 €I dig jF 8
00,5 wgdoma (F Ol Sl (yo,S P')T Y 00 plesl (o, S 5 (Y Ol (A

LR IR R 4
g gl (G1,50) S azgie il )SKen B ams las olis g ol 1) (5053 0,5 co (W g ol 5SS oy SBT ax> 31 «t» a5 Y

LR IR R 4

Ty 45 05,5 hésld ax il Ll «laiiue sole sl g o, Jas biae 10 580 ek DO WS o aS LKie AL cpl 4T 435 A
S oo @l 2l

Gras azgi (F &8g5 ol (¢ ol (5l (Y pled «glas (
LI R i 2

310 o oSl 90 o il sased sl zle 4 g 09l By ade G iy Cawgd LS e iy swliiicun ) o «P» ayF A

ool s 0,5 bas (Y Ol Jgie o8l LSS ()

08 59, & Eydge 3l pab B ymia (F 035 S 035 mgSae (¥

Sy Bi axsdS ed b d cudle a5 don ;o Wb a5 5 9k .l oliisl g sl Ll 4 o)l ol PETYEVI ISP VINCE S LN [ V-]
LR R -

OSos g Bymie 99,8 dilate I oS S ST ez 0,00 60L5 Jlemn €8S 4 5l planyler U Sy (g5, Laralsm G (00,51) 09,8 €D aig 35 e

Syt ( SaSTy (F Srp (Y gl ‘6)3]95 4 ods ()




	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20



